
EXAMPLES OF SECTIONS 2.6

Question 1. Find the inverse of

A =

 3 5 6
2 4 3
2 3 5



Question 2. Solve the system

A~x = ~b,

where A is the matrix of question 1 and

~b =

 0
2
0

 ,

by using the inverse of A.

SOLUTIONS.

1. Write


3 5 6

... 1 0 0

2 4 3
... 0 1 0

2 3 5
... 0 0 1


1
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and apply Gauss-Jordan elimination.
3 5 6

... 1 0 0

2 4 3
... 0 1 0

2 3 5
... 0 0 1

 A21(−1)
∼


1 1 3

... 1 −1 0

2 4 3
... 0 1 0

2 3 5
... 0 0 1

 A32(−1)
∼


1 1 3

... 1 −1 0

0 1 −2
... 0 1 −1

2 3 5
... 0 0 1

 A13(−2)
∼


1 1 3

... 1 −1 0

0 1 −2
... 0 1 −1

0 1 −1
... −2 2 1



A23(−1)
∼


1 1 3

... 1 −1 0

0 1 −2
... 0 1 −1

0 0 1
... −2 1 2


A32(2)

A31(−3)
∼


1 1 0

... 7 −4 −6

0 1 0
... −4 3 3

0 0 1
... −2 1 2

 A21(−1)
∼


1 0 0

... 11 −7 −9

0 1 0
... −4 3 3

0 0 1
... −2 1 2


So

A−1 =

 11 −7 −9
−4 3 3
−2 1 2

 .

2.

~x = A−1~b =

 11 −7 −9
−4 3 3
−2 1 2

  0
2
0

 =

 −14
6
2

 .


